MATI 237 Sochacki Home Work 3 Name K E Y WE S7) |
Nov. 11,2016 Take Home 50 Points {Print) (1 point)

All necessary work must be shown for credit. Your work must represent the question asked. You may NOT use
computers. You may use your notes or text. Your work must be neat or I will not grade your work. You may
discuss this assignment with others, but all work turned in must be your own work.

I have neither received nor given help on this exam. ﬁ)@ﬂ %Jz{,
(Signature) (1 point) Q

1. Give the average value of z= f(x,y)=x" -y’ over the region O ={(x,¥)|-2<x<2,-2<y<2}.
(6 points)
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3. Let z=x?+2xy+ )" . Determine where Vz = 0. Determine the level curves of z . Show Vzis orthogonal to
the level curves of z . (Hint: Parametrize the level curves of z.) Give the tangent plane and the line normal to
the tangent plane if (a) x=0,y =0, (b) x =1,y =2. (6 points)
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4. Let w=e~*"7 . Describe what the level surfaces are. Give the equation of the tangent plane and the line
normal to the tangent plane at the point (3,4,5). What is the level surface for this point? (6 points)
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5. Evaluate j: f y?¢¥dy dx . (6 points)
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6. Give the average value of z=f(x,y)=xy+y over the region Q‘é&" y)|x+45y55J;}.(6points)
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7. Give the average valueof z=—"——"—+ M over the region Q= {(x,y) [0<x< J8,x< y< \/16—x2} .
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8. Give the volume of 0 = {-(x, y,2)0<z<JA—x? —y? } . (6 points) )
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